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GANPAT UNIVERSITY
B.Tech.Sem. —II (ALL) Regular Exam. MAY — 2014
Sub : (2HS102) Engineering Mathematics — II
Time: 3 hrs = IS tal marks: 70
Instruction : (1) All questions are compulsory. .
(2) Write answer of each section in separate answer books.
(3) Figures to the right indicate marks of questions.
Section - | L 4
QUE 1 c o (1
(A) Define : Beta & Gamma function and provethat : B(m,n) = ;
(B) Define: Error function and prove that erf.(x) + erf,(—x) =
/2
(©)  Evaluate in terms of Elliptic integral : f =
] Vsinx ’
CTE1 (12)

(A) Evaluate in terms of Gamma function :

(B) Provethat .: (D erf(o) =1 (i) er

(C) Evaluate in terms of Elliptic integ ‘*.
L 4 /(4]

QUE 2 .
(A) Using Reduction formu% —cos0)3 d6 (03)

g
(B) Using Reduction forntula ev e : f x5 sin~1x dx (04)
0

4

© Evaluate f j ‘[X+ z) dxdydz . (09

0 x-z
4 OR |
QUE 2
: s
(A) Usi uction formula Evaluate : f 8 sin’0 cos*0 do (03)
0
kid

3

/ n-1
3
' ( 8 tan"x dx then provethat 1, +1,_, = (Q T (04)
: e .
( uate': [ fzrzsine dz dr de . (04)
o 0
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QUE3  Attempt Any Three L L (12)
dxd : -
(A) Evaluate: ff « . S e T
S s Ja-x3)(1-y?)

(B) Change the order of integration and _evaluate : f

2
i

(D) Find volume of the Ellipsoid: — + 5 + — = 1
= T c

‘Section - I _
QUE 4 ‘ - o oA
(A) Express the following complex number into polar form : Ha+ i) —i
(B) Solve the complex equation : x®+x5—x*—1=0

i 2 o je
C iv = i : = & — =1
_ (C) If x+iy=cosh(u+iv) then prove that e 7 1’ 5 S
OR '

QUE 4

a = cis2a =
0 b
@A) If b = cis 2 then prove that (i) ﬁ

c = cis 2y
d = cis 28

(B) Expand: sin’0 interms of‘ine @ :
(C) If a and B be the rootsof xﬁ 0 then prove that : a” + B = 2"cos (9,;-)
s s
QUE5 (A) If x, =cis (—2—; then N [ X3 Xz oo Xn] (04)

3
(B) Separate cos™t (Zl)

cos(a+ B —v)

= 2cos(a+B—y—0)

or nd imaginary parts . e - (04)
(C) Find the orthogonalffajectoryigf the family of circles : x* +y* = a* . Lk
OR
n ¢ n nTe e
QUES (A) Provethat: [1+ + [1-iv3] = 2"*cos (—é-) : (04) -
' i b +ib
- } = 2itan”?! (5) . Hence evaluate tan[i 1og{:_;b}] : (04)
trajectory of the family of parabolas : y = a z (03)
QUE 6 | (12)

: (x%—y®)dx = 2xydy

dy 1 i

e

{(x2—4xy-2 y?}dx+ {y? —4xy—2 x*}dy = 0
' END OF PAPER
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